AR H SCH S B PR

( 2022 )

i B 4R [ LY
FEH LT RAT X R RBUF S it B BT
EYITEE | EEWER | SFEPITE | oMl | BITR | B
P B S B 8.68 6. 94 6. 94 10 100% 10
I*(i?fj L AR ER K 8. 68 6.94 6. 94 — 100%
LSRR S — —
Hihk 4 _
FERE T H b SR e R A
SR | I BT 5 s ORGP R B IR T AR DR ORI T2 AR | S B U R e R A T
H RRFEEE . 8
|l . . - G bR | 2| RERRESH
—Z b/\ gé b/\ :é b/\ - . N
BER | 8RR BRAE bR | eiE | B | 4 | oGk
HETRbR ggﬁ%ﬁﬁ% ARIGTE 100% 100% 30 30
5=y ggﬁ%ﬁﬁ% AR 100% 100% 30 30
ki P E 7T ggﬁ%ﬁﬁ% AR I 100% 100% | 30 | 30
fabr 1:
AT bR | TEBhE 2:
= ot a2 }E‘*ﬂ? 1:
= 2N G oy
A T
S I R IV
23 At 100% 100% | 10 | 10
Hesa oy
2 AL
EVEnE =g e
et Ml
I fabr 2:
TE*H‘
. fatr 1
RIESR=A e
e L
. FESTE S LIRE
el S O ey
*EI*/\ *fﬁ

By 100 | 100




AR H SCH S 8 PR

( 2022 )

T [ 44 7% R PR
FEH LT IAT X R B KB SEZJiti LA REHEE TS
EYITWES | SEWES | £FEPITHR | SME | BITE | B9
e IR G 3.2 3.2 3.2 10 100% 10
T B S Hop YEBUR K 3.2 3.2 3.9 — 100% —
()
ARG R & — —
Hih# 4 — —
ERE T H b SR e A
JERN
e BB RRE AR, I I I AR RS R 4, IEH TR 9 R 5h
o . . - G bR | 2| RERRESH
—4 lf‘/\ #2 l:'/\ :é b/\ . . . N
BEn | 8RR B bR | seRdE | B | % | st
e TETEERIK 100% 100% 50 50
HEfabr | 18R 2:
Ei=z |
FREERr | 1B 2:
P 4 b ;%1
Brh L:
B RCEdE | Fads 2:
febr 1:
AR | $EFR 2:
5 N K EUVUUO
X o | L
H 22T R fm. Cl= o,
b e i
25 7 100% 100% 10 10
Py il =
2 AL
LV i=1 e
RN o
- TE*H‘ 2
TE[*H‘
— Fabr 1:
RIESESS=4 B
N KLk
I MR atg | FEh L
Sy WEERR | fEkR 2:
TEI% ﬁ

By 100 | 100




AR H SCH S 8 PR

( 2022 )

T [ 44 7% Mo T TARE R %
FEH LT IAT X R B KB SEZJiti LA REHEE TS
EYITWES | SEWES | £FEPITHR | SME | BITE | B9
e IR G 43.12 43.12 43.12 10 100% 10
I?;i;%?% Hor: ME Bk R 43.12 43.12 43.12 — 100% —
ARG R & — —
HAb % 4 — —
TEE T H AR SR e A
A o qh T 2 s
' BRI AW ENA L WIFT S AA AL PR AT 3 B LR LIFERTE
B % JETAE
o . . - R bR | 2| mERRESH
— b/\ gé b/\ :é b/\ - N N
R | 8RR BRAE bR | e | B | % | st
57 R B 5E R 100% 100% 30 30
ek | 158 2:
TEBIF PR R 100% 100% 30 30
FREERr | 1B 2:
PR B 5 B I 2 100% 100% 30 | 30
B RCEdE | Fads 2:
fabr 1:
HARTE bR | TEBhE 2:
g e
X o | L
2} ESSRV I Y &t = o
b AL
i s A1l 100% 100% 10 10
PR Gt royey
2 e
LG L e
RN o
- ¥k 2
TE[*H‘
P Fabr 1:
RIESR=A Gl o,
wifeps [0
o Rgnt g | dEbs L
WEE | e ok 2.
*EI*/\ *Z]?
By 100 | 100




